
10 − 3 = 7

10 −  = 

10 −  = 

10 −  = 

Can you write a matching subtractions number sentence below each picture?

Number bond sticks Subtraction within 10
Can you complete these subtraction number sentences using number 
bonds to 10?

Example:

10 −  = 
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10 −  = 

10 −  = 

10 −  = 

10 −  = 

10 −  = 
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10 −  = 

10 −  = 
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Number bond sticks 
Subtraction within 10 Answers

10 − 0  = 10

10 − 6  = 4

10 − 2  = 8

10 − 4  = 6

10 − 3  = 7

10 − 7  = 3
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10 − 1  = 9

10 − 5  = 5

10 − 8  = 2

10 − 10  = 0

10 − 4  = 6
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